Suppose Z, Z,, Z, are the vertices of an equilateral triangle
mscnbod inthecircle|Z]=2.1fZ =1+ i3 3 then Z,= -

o A (1994 - 2 Marks)-

The value of the expression
1+(2-®)(2-0?)+2+(3-w)(3-0?)+... +(n—-1).(n—-0)(n-w?),
where ® is an imaginary cube root of unity, is.. ...

(1996 - 2 Marks)




- Thus, sum of the given series,

Let z,, 2,2, be the vertices 4, B and C respectively of
equilateral AABC, inscribed in acircle | z| =2, centre (0,0)
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rth term of the given series, || |
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2.  Ifthe complex numbers, Z, Z, and Z, represent the vermas a
of an equilateral triangle such that -
|Z|=1Z,|=|Z2,|then Z, + Z,+ Z,=0. (1984 -1 Mem




F..z:,, zz, z3 are equidistant from origin. Hence O

cmtre of AABC

AAL C is equilateral and we
nNOv that in an equilateral A
n treandcenmod
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cube roots of unity when represented on Argand
am form the vertices of an equilateral triangle.
L (1988 - F Mark)
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1.

If the cube roots of unity are 1, ®, ®?, then the roots of the
equation (x—1)*>+8 =0are (1979)
@ -1,1+2w 1+20’ (b) -1,1-2w, 1 -2’
¢ -1,-1,-1 (d) None of these
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f mtofumty and (14 m

1 ® (©) 1,0










20. ® (+o) = 0 n Y

= (=) =1+ (- =2 =\=>n=3



20. 1f o (# 1)be a cube root of unity and (1 + Wy =(1+@ i
then the least positive value of n 1s )0)- :
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20. ® (+o) = 0 n Y

= (=) =1+ (- =2 =\=>n=3



